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SECTION - I (Objective Type Questions)

cosOxsecO= ... . .o

(a) 0 (b) -1 W 1
cosBxsecO= ...
(a) 0 b) -1 w) !
Cosd5° W OHTT e t |
(@ o (b) 1 3
The value of cos45% is ..o
1
(a 0 by 1 () \i_;
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(a) 2 b 1 © 3
A tangent to a circle touches it at ... point (s
(a) 2 (by 1 ©«© 3
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Curved surface area of a cone is
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The probability of an event that cannot happen, is
(a 1 (b 0
o nfitd w1 armes €
(@) ar (b} .;4’“3
Volume of a hemisphere will be :
@ =° ®) Im
veam e faww Femsi st L 4
(@) 5 (b) 4
Mean of first five odd numbers is .....c.ccocveermieieen
(a 5 (b) 4
1.
cos®
(a) tan@ (b) seco
1
cosp
(a) tan@ (b) sec@
1+ tan?@ = oeiiciennens
(a) sec?® (b) cos®@
1+ tan20 = .coovecirereninens
(a) sec’® (b) cos®
TF qa % 4AFdA M
(a) 2“2 (b) 3“!'2
Area of a circle will be:
@ 2rr? (b) 3’
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(c) 3
€ 3
{c) cosec®
(c) cosecd
(c) sin?®
(c) sin’@
© nr?

{c) n=nr

https://www.hpboardonline.com

{ Turn Ove



o1 ¢ qen fawn ¢ WO (AT O HT 9 & e ey
0 9ar (1) 0 i . 1

- X N _ )
@) 300 360° (©) gqe” 2

Length of an arc of a sector with centre angle 8 and radius r will be -
2 . 2nr b 6 i 0o
R ® 350°" © g 2
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When two coins are tossed simultaneously, what will be the probability to get

‘at least one head' ?

1 3 ]
® 3 ® © 5
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3
@ 2em? o Dem® o 32“ "
/
Volume of a lwmisphcru |'l.'lvin’r) radius 3 cm will be -
396 13 390 3 - 00 -
(a) > cm (b) S em (© % cm
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(a)y 7 (b)y 5 @ 12
If cos A= 2 , then base will be :
’ () 12
@y 7 by 3 ¢
sin 90° BT A cooommveneememmemnes 4 |
(@ O (by 1 () -
The value of sin 90° i5 ..o 1
(a) 0 (b) I €y -

5cmgmaréa=r$ramaa€m; o
@ 100cm’ (b) 125cm’ (¢) 150 cm
The volume of a cube having side 5 em will be .

- 3
(a) 100 em’ (b) 125 cm? (c) 150 cm
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a) Bem? 5 ‘
@ 35cm (b) 405cm? (©) 25cm?

The vol
ume ol ac¢ i . .
a cuboid lmvu\g dimensions 4 cm 35em x 2.5 em will be -

(@ 335cm? .
em (b) 405cm? (€) 25em’
19. Wemadt 13, 14 st 15 %1 mem g
(@) 14 (b 13 © 15 i
The mean of the numbers 13, 14 and 15 js -
@) 14 (b) 13 © 15
~ I
20. T 9 F T AR $FY © 95 gy
\ WA 83 F e 2 1
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A dice is th ) 2
) rawn once then the probability to get even number will be :
@@ 3 b 1 !
3 (b) 6 (<) 3
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SECTION - II (Subjective Type Questions)

WUE - A’/ Part-'A’
(I = wyv AT 1 / Do any Four questions. )

21. mmaﬁﬁﬂ{ : 2 tan? 45° + cos? 30° - sin? 60° 2
Evaluate : 2 tan? 45° + cos® 30° - sin” 60°

22. 7.5cmmﬁ?@@ﬁmﬁ?3ﬁ4:7mﬁﬁmﬁﬂmr 2
Draw a line segment of length 7.5 cm and divide it in the ratio 4.7,

23. u'Fep(E)=o.ez%.ai:'F=.€'a‘wm—'—crfmLmawfsmi' | 2
If P (E) = 0.62 find the probability of 'not E'.
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Fiod the area of o quadiany of o circle whiose cirs nnderence 4 22 om

25 W AER # 3 AW, 2 @RE M 4 T ER Conarblen) B gfe gm0 a4l @ 7 ww wen
uwepa Fwren s & | sER) gfawm 0 & 6 w0 (i) wEE R ) den ks 2
A box contains 3 blue, 2 white and 4 red marbles, If o marble s drawn at random,
from the box, whal is the probability that it will be (i) White ? (n) Blue ?

26, T A Q A W 7 e w] Y wh Ay 24 om AV QM FTAFABcm IR
v wt e 7w 2
From a point Q, the length of the langent to a circle is 24 cm and the distance of Q
from the centre is 25 cm. Find the length of the radius of the circle

27, frqa ABC. e w10 C g €, AC=8cm 3 BC=6cm k15 A M cos A TR
Lo g 2
In triangle ABC, right-angled atC, AC = Bemand BC = 6 em. Determine sut A and

os A.
W - ‘W' / Part - ‘B’
(w7¥ W7 wPT NG 1 / Do any Four questions. )
8. R W 9o R AAwR FEAIE w9 A W ¢, @ 7@ g9 F e 7@ ) 3

If the perimeter and the area of a circle are numerically equal, then find the

radius of that circle.

29, wafafmw fog ST : (cosecd-cots)? = <28
1+cos0

1-cosh

Prove the Identity : (cosec®-cot 0)2 " Troosh

6]

https://www.hpboardonline.com

r-11-902-B-X-2322



mAA 3Iem T1FT 7 W IR A ] AAE FA B A A

S0 1 EEET gal W T AT S e
7 ga Eakeicreiid 3
Two concentric circles are of radii 3 cm and T cm. Find the lenyth of the chord of
the larger circle which touches the smaller circle
g - L e T T e FRETE TT Y, zTE UTAFA
352 TR E] g wET R R g T TR AT A a2
T Fifem fa e owe o -
() T T A (i) T & E 3
One card 18 drawn trom o well-shutfled deck of 32 cards Find the probability
that the vard w ill be
(i) akingof red colour (i) the jack of hearts
12 -\:;:?r:ﬁ,-,:tm—“i"e- w’i"@ﬁﬁﬁ%maﬁ?wwlcmg“mmﬁ
o TaF 590 F T § 139 Fm W agEs ¢ @ v 8 e wAn 3
A solid is in the shape of a cone standing on a hemisphere with both their radu
being equal 1o 1 cm and the height of the cone s equal to its radius. Find the
volume of the solid in terms of n. https://www.hpboardonline.com
1 R 20 om A JA FCF 0 AZ W 40w FT ATA wIM E AW 0 S A
E:Tm' 3
In a circle of radius 21 em, an arc subtends an angle of 60° at the centre. Find the
length of the arc.
14, AE15cot A =8, 7 Al sin A 3 cos A F A @ FAY) 3
If 15 cot A = 8, then calculate sin A and cos A,
WUE - '}/ Part-'C’
(&% 3 7v7 W1/ Do any Two questions. )
45w g T @rEe AFIE F R & ¢ faad T GE @raen aen s
Refrire F1 3TE 14 cm & #7 WA () F wE FEE 13 0m 3 V9 T W @
Jedg A A HIAC 5
A vessel is in the form of a hollow hemisphere mounted by a hollow cylinder.
The diameter of the hemisphere is 14 cm and the total height of the vessel is
13 em. Find the inner surface area of the vessel
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The following data gives the intormation oo the observed hictimes (in hours) of
225 electrical companents
Lifetimes | . | 80 - 100 120
(in hours) 0-20 | 20-40 40 - 60 \ 60 - 80 -1 100 - 120 |
R S |
Frequency 10 J 35 52 | 6l s 029
L | I |
Determine the modal Lifetimes of the components
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